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TOF =T S (5) 2.9 5 14.5 14.5 2.9
TOHTANL—F T 1.1 10 11.0 11.0 1.1
TIF TN — T T AT ] 1.1 10 11.0 11.0 1.1
TIVAIR AT T 4L — 1.1 10 11.0 11.0 1.1
T IVIIIR A A —] 1.6 10 16.0 16.0 1.6
TIVHRF AA— T g5 — 1.1 10 11.0 11.0 1.1
TIVIIR SR b 1.2 10 12.0 12.0 1.2
TIVAIR IR N T B — 0.8 10 8.0 8.0 0.8
TIVATRF R SN T AN — T Az a—b— 0.8 10 8.0 8.0 0.8
TIVARF TR SN T g B 2 — R =) 0.8 10 8.0 8.0 0.8
TIVHRF TR N T g B e A — )L 0.7 10 7.0 7.0 0.7
TINHRF R T 45 —3 s 0.8 3 2.4 2.4 0.8
AT RUT VA 8.0 1 8.0 8.0 8.0
AT XU T VAR AN — bR 9.5 1 9.5 9.5 9.5
TYATA—T— A/ AT L 5.0 5 25.0 25.0 5.0
THATa—F—Fzal—h-NaT 5.0 5 25.0 25.0 5.0
TYAT AT e NZ s R B 5.0 5 25.0 25.0 5.0
THATO—F— e R=F e I — L 5.0 5 25.0 25.0 5.0
Ta— e — (%) 0.6 20 — 14.0 0.7
TR VT T AT - a—ha T AR 8.6 1 8.6 8.6 8.6
TR VT T AT KT BuFRA 7.0 1 7.0 7.0 7.0
N7 e JL— L 0.7 10 7.0 7.0 0.7
N7z JL—LTa~ 0.8 10 8.0 8.0 0.8
BTz =D 7 =5 0.8 10 8.0 8.0 0.8
ATz Jl— A a—b— 0.8 10 8.0 8.0 0.8
AT e Jl— I T AVH— T~ 0.9 10 9.0 9.0 0.9
N7z Jl—DheT— (%) 0.6 10 — 7.0 0.7
F— 2 Y L (3) 0.6 20 — 14.0 0.7
F—RRY LT T NTF 2V — (%) 0.6 20 — 14.0 0.7
F—R RY L aaf oY R=T (%) 0.6 20 — 14.0 0.7
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F—Re RY LT T T — () 0.6 20 — 14.0 0.7
F—Re AU L F X TT () 0.6 20 — 14.0 0.7
F— R AY L A= L (36) 0.6 20 — 14.0 0.7
F—Ae RY Lo — R b () 0.6 20 — 14.0 0.7
F—Re AR 0.8 20 16.0 16.0 0.8
F— R ANR AT =TT 0.8 20 16.0 16.0 0.8
XN T TU T T INAT = IT 0.9 20 18.0 18.0 0.9
XN T T T T I VN T — =T ) — I 0.9 20 18.0 18.0 0.9
X T T T TN = F = — 0.9 20 18.0 18.0 0.9
XN ST T TGy I — TR A Y — 2 0.9 20 18.0 18.0 0.9
Fy A VI — T VTT AR Ry I A 0.7 20 14.0 14.0 0.7
Fy AL T H— Ry A 0.7 20 14.0 14.0 0.7
Ry ANV H = A=V TV TFT AR 100 s RY A () 0.4 20 — 14.0 0.7
Fy AT e A= L TR TTA R Ry A 0.7 20 14.0 14.0 0.7
Fy AL T I A — e RY A (%) 0.4 20 — 14.0 0.7
XX A T A — )L e RY— TRV e TRy 7 A 0.7 20 14.0 14.0 0.7
XX AN VI = A= e XY =B TR T ARy I A 0.7 20 14.0 14.0 0.7
Fy AT A — L TRy TR 0.7 20 14.0 14.0 0.7
Fp AT H = A =L T AR R L () 0.4 20 — 14.0 0.7
Fy AT A =L TA R TR IR 0.7 20 14.0 14.0 0.7
Fy A T — T AR R I A 0.7 20 14.0 14.0 0.7
¥ TRY —R A~ Fz)— 3.1 5 15.5 15.5 3.1
¥ Y TRT—R 2L 3.3 5 16.5 16.5 3.3
FLUT e RT—R T gL — T — 1.2 20 24.0 24.0 1.2
JT BT AT I=2H)m 0.7 20 14.0 14.0 0.7
7= =T (3%) 0.4 20 — 14.0 0.7
TV =T R AL TYT (%) 0.4 20 — 14.0 0.7
7 =)L )L—T Rk h L (%) 0.4 20 — 14.0 0.7
J— )V =T R TFA(¥) 0.4 20 — 14.0 0.7
IRF =AY a AV F v 3.0 5 15.0 15.0 3.0
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JRF 2= Fam—h 3.0 15.0 15.0 3.0
JRF =AY = 3.0 15.0 15.0 3.0
JRF =T BN =T 3.0 15.0 15.0 3.0
5T AR — 3= A hT (X) 0.6 20 — 14.0 0.7
U5 T AR — 3= FgaL—h 0.8 20 16.0 16.0 0.8
DTT RS — =R 0.8 20 16.0 16.0 0.8
DTT AR — R T YL R 0.8 20 16.0 16.0 0.8
DT T AR — = T YA — T J— 0.7 20 14.0 14.0 0.7
DT T RS I= T VA — KT A | 0.8 20 16.0 16.0 0.8
DTT AR — 3= T TV 0.7 20 14.0 14.0 0.7
DT T AR — =T 0.7 20 14.0 14.0 0.7
TV A2 TVT 4 ) A 0.9 20 18.0 18.0 0.9
Va=Ubs 5.5 5 27.5 27.5 5.5
TR —=T VR T T AT 0.7 20 14.0 14.0 0.7
BN —=T VNG TA A= 0.7 20 14.0 14.0 0.7
TR ) =T VNI TA A — )L 0.7 20 14.0 14.0 0.7
A= ITT 1.1 20 22.0 22.0 1.1
A —s3-77710"s 1.1 10 11.0 11.0 1.1
A=\ ITTHRIAh 1.1 20 22.0 22.0 1.1
A=\ IFTHRIARL0 1.1 10 11.0 11.0 1.1
T —sReg—h 1.6 10 16.0 16.0 1.6
S —ReI= A 1.0 20 20.0 20.0 1.0
A== YR A 1.0 20 20.0 20.0 1.0
A= R 2= Y RTUA R0 1.0 10 10.0 10.0 1.0
A== HYE10 s 1.0 10 10.0 10.0 1.0
T LT LNy R VT — (3K) 0.5 20 — 14.0 0.7
T LT Ry e U A =)L () 0.5 20 — 14.0 0.7
F— LR — A m 1.7 10 17.0 17.0 1.7
LR — L TR 1.0 10 10.0 10.0 1.0
VY YNV — A VDT 0.9 20 18.0 18.0 0.9
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VY YL = T 0.9 20 18.0 18.0 0.9
SV YL — s A — PR — )L 0.9 20 18.0 18.0 0.9
DRV By S S E v 0.9 20 18.0 18.0 0.9
VY LT F ) — 0.9 20 18.0 18.0 0.9
VY IS — e R=T 0.9 20 18.0 18.0 0.9
S R d 9.4 1 9.4 9.4 9.4
Vv A YT 8 (%) 0.6 20 — 14.0 0.7
Ty A =L 8 (%) 0.6 20 — 14.0 0.7
Y7y No., TF 2R A 5.5 1 5.5 5.5 5.5
D) AT 1.0 20 20.0 20.0 1.0
Y /e2=390a 20s 0.9 20 18.0 18.0 0.9
Va— N — A A AV F ) 0.9 20 18.0 18.0 0.9
Va—T— I~ (A =)L) 0.9 20 18.0 18.0 0.9
Va—B— NI A =L T AR T (%) 0.6 20 — 14.0 0.7
Va—h— NI A =)L TA DT T R (3K) 0.6 20 — 14.0 0.7
Va— T NI A )b e XY= 7 )L () 0.6 20 — 14.0 0.7
S E—R UL — 0.8 20 16.0 16.0 0.8
ARG fy— AL —h T m 3.2 5 16.0 16.0 3.2
AT AR AL =R AR — A a 3.1 5 15.5 15.5 3.1
AT A=k Faalb—hrHn 3.1 5 15.5 15.5 3.1
AT AR A — R/ X—=T 2 Ik 6.9 5 34.5 34.5 6.9
AT AL A — R T AT T 3.2 2 6.4 6.4 3.2
AT A Y A =R T FANNTF T L—T 3.2 2 6.4 6.4 3.2
AT A3 Y AL =R T AL F AR — 3.2 2 6.4 6.4 3.2
AT AR A =R T A AN F LA LR 2.7 2 5.4 5.4 2.7
AT A= A =T HA NG FIAE I N T 2=V 3y 2.7 2 5.4 5.4 2.7
AT A3 A =R T AN RGF T =R — 3.2 2 6.4 6.4 3.2
AT A A — R UL — 1.0 20 20.0 20.0 1.0
AT f 3 AL —h YN T — T —TF 1.0 20 20.0 20.0 1.0
AT g Y AL =R UMV — AR — 1.0 20 20.0 20.0 1.0
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AT g AL =R UMV I —F =) — 1.0 20 20.0 20.0 1.0
AT Ay — AL =R ULV I —E—F 1.0 20 20.0 20.0 1.0
AT AU A= VLTI =R — )b 1.0 20 20.0 20.0 1.0
IVTYT =T 1.0 20 20.0 20.0 1.0
VYFAT X 2T — 1.0 20 20.0 20.0 1.0
By F~ AL —anat T Ty I A 9.3 37.2 37.2 9.3
BoF <AL — A as L —7 3.2 5 16.0 16.0 3.2
B oF ARG — L HIaR=F 3.3 5 16.5 16.5 3.3
B2 s AR X b AT 0.9 20 18.0 18.0 0.9
B 3me WK BT IVT VA — (%) 0.4 10 — 7.0 0.7
R e N— R e T LB — 1.5 10 15.0 15.0 1.5
HERT 77297 )n 1.5 10 15.0 15.0 1.5
HFER7-3=vH)r-2—/LK-10°S 1.0 10 10.0 10.0 1.0
HER7-3=3H)m-23—10"S 1.0 10 10.0 10.0 1.0
HERT =2 HVa-=H57720°S 1.0 20 20.0 20.0 1.0
BT INEFRAFY DT IL (%) 0.5 20 — 14.0 0.7
BT NNEFRA A — L (3K) 0.5 20 — 14.0 0.7
BT NNEFATAD () 0.5 20 — 14.0 0.7
F o T A= RY LI T 0 () 0.5 20 — 14.0 0.7
F Xy T A= RY Kea—b— (%) 0.5 20 — 14.0 0.7
F T A== R Lo F 2 — () 0.5 20 — 14.0 0.7
F Xy T A= RY KN =T (%) 0.5 20 — 14.0 0.7
F o T AR e A — )L () 0.5 20 — 14.0 0.7
NAH— /7T a (N —a—R%5:8059145101754) 7.7 1 7.7 7.7 7.7
NAT— /T2 (N —a—R%5:8059145106582) 7.8 1 7.8 7.8 7.8
FAHFE TR T ZA (N —a—RE5:8027463181871) 3.8 1 3.8 3.8 3.8
RAHFE T IV T = A (N—a—R%5:8059145106605) 4.0 1 4.0 4.0 4.0
FAD R TR AT 2 (=2 —R % 5:8059145101860) 3.8 1 3.8 3.8 3.8
NAB FE TR A7 = (N—a—REE:8059145106599) 4.0 1 4.0 4.0 4.0
MG RR T BT T8 (N —a—REH:8059145101747) 3.8 1 3.8 3.8 3.8
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MBI FR T BT T8 (N—a—FEH:8059145106629) 4.0 1 4.0 4.0 4.0
FAH FE TR R=F (N—a—REE:8059145102560) 3.8 1 3.8 3.8 3.8
MG R T o N=F (N—a—FEE:8059145106612) 4.0 1 4.0 4.0 4.0
28 =ty a= = PE S S 4.0 1 4.0 4.0 4.0
N=FyRsa—hk 1.6 10 16.0 16.0 1.6
Ry 2T/ H ) m 1.2 20 24.0 24.0 1.2
FA A LXS F oY 0.9 10 9.0 9.0 0.9
I AT TF—) 0.9 10 9.0 9.0 0.9
FAAFaaL—h 0.9 10 9.0 9.0 0.9
FA RN T T~ 1.9 10 19.0 19.0 1.9
FA R T (I I T = 1.8 10 18.0 18.0 1.8
FA A= 0.9 10 9.0 9.0 0.9
FAARI=NR=T 0.9 10 9.0 9.0 0.9
FAZI=LB N 0.9 10 9.0 9.0 0.9
N RN R 2= R I FY DT L (3K) 0.5 20 — 14.0 0.7
IN R R /= R I 7T 7 (36) 0.5 20 — 14.0 0.7
IN=RAN A= =AY B I T3 0T — XY= A= )b () 0.5 20 — 14.0 0.7
SN RAR A== RY B TS s A — )L (3K) 0.5 20 — 14.0 0.7
IN=RAR R =AY L BT T 2 — (%) 0.5 20 — 14.0 0.7
IN R R s S RY I BT LR =T (%) 0.5 20 — 14.0 0.7
SN R R = Y B A — L (36) 0.5 20 - 14.0 0.7
RAT L I e DAY )L e F 2R 7.9 1 7.9 7.9 7.9
NI YT YR ARG — T AT A 3.3 5 16.5 16.5 3.3
I YT R I 3.0 5 15.0 15.0 3.0
IN TR e INZ—= R — 3.0 5 15.0 15.0 3.0
INNEL R 4.3 5 21.5 21.5 4.3
INRB R0 2 Tl AL — ] 4.3 5 21.5 21.5 4.3
INSNE L IR NS 3.2 5 16.0 16.0 3.2
PSIVEH ZIFT 1.1 20 22.0 22.0 1.1
PNWETT AR =TT 10 s 1.1 10 11.0 11.0 1.1
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PPVETTAKRY =057 +20" s 1.1 20 22.0 22.0 1.1
PSVEH AR == AR 107 s 0.7 10 7.0 7.0 0.7
PVETARY = Y20 s 0.7 20 14.0 14.0 0.7
PYVE T AT 3.0 5 15.0 15.0 3.0
FOVETT AR = m 0.7 20 14.0 14.0 0.7
PN 2.2 5 11.0 11.0 2.2
P — I 2.1 10 21.0 21.0 2.1
Nk —Taw(14) 1.0 14 14.0 14.0 1.0
IR = T R=T (3K) 0.6 20 — 14.0 0.7
B — b 0.9 20 18.0 18.0 0.9
PR B— 2T YR (14) 0.9 14 12.6 12.6 0.9
B — TP (14) 0.9 14 12.6 12.6 0.9
P B =T —(14) 0.9 14 12.6 12.6 0.9
INCTFIVAT— LR T L 2.3 11.5 11.5 2.3
INCT VA — VR STl 2.3 11.5 11.5 2.3
NCT WA= )VR Ty RF T 4.1 20.5 20.5 4.1
NCTFINAT— LR e —— 2.3 11.5 11.5 2.3
INGT AT VR e HI I T 97 1.0 10 10.0 10.0 1.0
NCTFNAT—)UR A a e R=T 1.2 10 12.0 12.0 1.2
SN FILAT R - AR — 2.3 5 11.5 11.5 2.3
INSTF VAT —UR - F 2 — 2.3 5 11.5 11.5 2.3
INSTF VAT =R e F 2= F 3.6 5 18.0 18.0 3.6
INCTF VAT — LR Faml—h 2.3 5 11.5 11.5 2.3
INCTF AT =R e R=F 2.3 5 11.5 11.5 2.3
INCTF VAT — VR R=TF - F S 3.6 5 18.0 18.0 3.6
INCT VAT —)VR T T Ty RF w7 3.9 5 19.5 19.5 3.9
INT VAT — VR R A k)oY 2.3 5 11.5 11.5 2.3
= S 0.9 20 18.0 18.0 0.9
EUH — =7 AR—h 4.3 21.5 21.5 4.3
EUS = 2 AR =k~ T a—n 4.7 23.5 23.5 4.7
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BV —10-27 v 0.9 10 9.0 9.0 0.9
BV =10+ A —R T4V F— 0.8 10 8.0 8.0 0.8
EUH—10"=F 75— 0.8 10 8.0 8.0 0.8
T4y TEY A =R AL — () 0.4 20 — 14.0 0.7
T4V T VA m—RRZ— Iy T A (%) 0.4 20 — 14.0 0.7
T4V T EY A —RAS — A — )L (3K) 0.4 20 — 14.0 0.7
T AT« I ANTTA T () 0.4 20 — 14.0 0.7
THINT « ZI AT TARA Y — )b (3%) 0.4 20 — 14.0 0.7
TANT FVTF I (3%) 0.4 20 — 14.0 0.7
TANT A =)L (%) 0.4 20 — 14.0 0.7
THNT +TAR(K) 0.4 20 — 14.0 0.7
T TAN— ARy INo2F 2R 11.9 11.9 11.9 11.9
TIIY TR RANR T — 3.6 18.0 18.0 3.6
TG T VR ANR T A e R — e ] — 3.7 18.5 18.5 3.7
TIIITX I T ATRT T (%) 0.4 20 — 14.0 0.7
TI9TX T T ATURTT97 (3K) 0.4 20 — 14.0 0.7
TIII N A=+ F =V (%) 0.4 20 — 14.0 0.7
T I I e R s =AY I A — )L (3) 0.4 20 — 14.0 0.7
PG e A s R Lo A — L (36) 0.4 20 — 14.0 0.7
TTYY AN e AR =T LA — 1.2 20 24.0 24.0 1.2
TIYIAN= T )= TS — 1.2 20 24.0 24.0 1.2
TIvI AN F T F 2.7 5 13.5 13.5 2.7
TIVIAN— Y F T T A 2.6 13.0 13.0 2.6
TIIIAN—Y Ty T IN=T 2.7 13.5 13.5 2.7
T IO AN— L IR=T T A LE— 1.2 20 24.0 24.0 1.2
T I A= = F 2 — 1.8 6 10.8 10.8 1.8
TTYY AN T AT S 1.2 20 24.0 24.0 1.2
T IRy RTF T e R=T 3.8 5 19.0 19.0 3.8
TIvI Ny F )= T — 1.0 20 20.0 20.0 1.0
TIvI Ny FaT TS — 1.0 20 20.0 20.0 1.0
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TP R R L g —hem T AR 11.5 1 11.5 11.5 11.5
TV RN R LT g e am) 6.6 1 6.6 6.6 6.6
TV RN R Ve T o g — R a7 AR 10.8 1 10.8 10.8 10.8
FY e RNV e T 2 T g e ) 6.5 1 6.5 6.5 6.5
TV R R L T a—a a7 AR 11.5 1 11.5 11.5 11.5
TV e N R LT AR 11.5 1 11.5 11.5 11.5
TN INTA I T NI — 2.1 5 10.5 10.5 2.1
ZF1L37 ANO. 6 1.5 10 15.0 15.0 1.5
ZFLI7 LNO. 6F =l — 1.5 10 15.0 15.0 1.5
FLIT LNO. 6/7=— 1.5 10 15.0 15.0 1.5
AN =T gL B RN T Ta 3.6 5 18.0 18.0 3.6
AT 4V ayh U g AT — 0.8 20 16.0 16.0 0.8
KT ayh ) P—RU s 0.8 20 16.0 16.0 0.8
RTqvayh-$r 707 0.8 20 16.0 16.0 0.8
RTqvayh-Fzl)— 0.8 20 16.0 16.0 0.8
RT g avhei=7 0.8 20 16.0 16.0 0.8
RTqvayh-Fer—h 0.8 20 16.0 16.0 0.8
RT4vayvhTL&T—TF 0.8 20 16.0 16.0 0.8
RN—De T =TV 0.7 20 14.0 14.0 0.7
R— Lo U H—I= A== AU KT AR — (3%) 0.4 20 — 14.0 0.7
Ro—Lae U H—I= A=Y L EET (%) 0.4 20 — 14.0 0.7
R AT 3.2 5 16.0 16.0 3.2
R AT UL I — 1.0 20 20.0 20.0 1.0
RR A ALG YIS — F = — 1.0 20 20.0 20.0 1.0
“HX—RI=F 2T 1.8 8 14.4 14.4 1.8
~DR— 2.2 5 11.0 11.0 2.2
SEY Ly -1=5 S 3.8 5 19.0 19.0 3.8
N=TE S 1= 5 6.6 1 6.6 6.6 6.6
N =R A= ey 6.7 1 6.7 6.7 6.7
NETRE (RE =R 578 6.7 1 6.7 6.7 6.7
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BT IYVAR A =T 7T710s 1.1 10 11.0 11.0 1.1
BT IVAN A =T 5720 s 1.1 20 22.0 22.0 1.1
BT IVAR A =T I=2AIR10 s 1.0 10 10.0 10.0 1.0
BT IVAR A =T I=2 A IE20 s 1.0 20 20.0 20.0 1.0
ELTIVANITT 1.1 20 22.0 22.0 1.1
ELTIVARNITT710’s 1.1 10 11.0 11.0 1.1
T TIYARI=T B 1.0 20 20.0 20.0 1.0
BT IYARI=U 10 s 1.0 10 10.0 10.0 1.0
Fe XK 103=F 27 (%) 0.6 10 — 7.0 0.7
TR 53 ) n 1.5 5 7.5 7.5 1.5
TIH—  ANTA Y T AN B — TV T T 7 (%) 0.4 20 — 14.0 0.7
ToF— ARNTAY T A NH— LT A — )L 0.7 20 14.0 14.0 0.7
ToX—  ANTAY TN B — T T AR 0.7 20 14.0 14.0 0.7
FIH—  ANTA Y T NB— 2V TR () 0.4 20 — 14.0 0.7
FUNR—=T Y 0.9 20 18.0 18.0 0.9
By AU F L (K) 0.4 20 — 14.0 0.7
B2 A =)L (3%) 0.4 20 — 14.0 0.7
1y 774K (%) 0.4 20 — 14.0 0.7
=5 SN QN EVESY SV o 1.1 20 22.0 22.0 1.1
A Y ValTy s 3= )n 0.9 20 18.0 18.0 0.9
AAA Y Val Ty 32277110 s 0.8 10 8.0 8.0 0.8
T A — 0.7 20 14.0 14.0 0.7
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